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INSTRUCTIONS TO THE CANDIDATES

Candidate is required to write his/her Roll Number in (i) this
Question Booklet and (i) OMR Answer Sheet supplied
separately; and also put his/her signature at the places
provided for the purpose.

This Question Booklet consists of this cover page, and a
total 60 Items. Use blank pages available at the end of
Question Booklet for rough work.

There are four alternative answers to each item marked as
(@), (b), (c) and (d). The candidate will select one of the
answers that is considered to be correct by him/her. He/
She will mark the answer considered to be correct by filling
the circle.

Use black/blue point pen to darken the circle.

See the following illustration.

lllustration:

1.Thesumof20and 12is

(@32 (b)38 (c)31 (d)34

The Correct answer of item 1 is (a), which should be
marked in OMR Answer Sheet as under:

1@ @ © @

Halffilled, faintly darkened, ticked or crossed circles will be
read as wrong answers by the optical scanner and will be
marked asincorrect.

The Booklet and OMR Answer Sheet must be handed over
to the Invigilator before the candidate leaves the
Examination Hall. No page(s) should be torn out from the
booklet.

Keep OMR Answer Sheet straight. Do not fold it.

All questions are compulsory, each question carries one
mark and there is NO negative marking.

. Use of calculator/mobile/ any electronic item/objection

materialis NOT permitted.
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Bank | 1992 | 1993 | 1994 | 1995 | 1996

A 18 23 45 30 70

B 27 33 18 41 37

C 29 29 22 17 1"

D 31 16 28 32 43

E 13 19 27 34 42

TOTAL 118 120 140 154 203
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SECTION- A

(Q.1-Q.5)
Bank 1992 1993 1994 1995 1996
A 18 23 45 30 70
B 27 33 18 41 37
c 29 29 22 17 1
D 31 16 28 32 43
E 13 19 27 34 42
TOTAL | 118 120 140 154 203
1 If the minimum target in the preceding years

was 20% of the total disbursement of loans,
how many banks reached the targetin 19937
1

o 0 T o

2
3
4

In which of the following banks did the
disbursement of the loans continuously
increased over the years?

a. b

b. c
c. d
d. e

In which year was the total disbursement of
loans of the banks Aand B exactly equal to the
total disbursement of banks Dand E

a. 1992

b. 1993

c. 1994

d. Noneoftheabove

What was the percent increase in the
disbursement of loans of all bans together
from 1994 to 1995

a. 1.4

b. 14

c. 10

d. noneoftheabove
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. ¥16,537950

@. 716,500

M. 16,525750

. 718,150

In which year was the disbursement of loans
of all the banks put together was least as
compared to the average disbursement of
loans overthe years?

a. 1992

b. 1993
c. 1994
d. 1995

A person covers a distance in 40 minutes if he
runs at a speed of 45km per hour on an
average. Find the speed at which he must run
toreduce the time of journey to 30 minutes

a. 70km/h

b. 75km/h

c. 60km/h

d. 65km/h

The Speed of a boat in still water is 2km/h and
downstream is 3 km/h, then the speed of the
streamis

a. 2km/h

b. 1km/h

c. 3km/h

d. 1.5km/h

Theratio between the presentagesof Pand Q
is 3:4. If the ratio of their ages after four years
becomes 7:9. Whatis the presentage of Q?

a. 24

b. 30

c. 28

d. 32

Sudha invested Rs.15,000 at interest @10
p.c.p.a for one vyear. If the interest is
compounded every six months what amount
will Sudha get at the end of the year?

a. RS16,537.50

b. RS16,500

c. RS16,525.50

d. RS18,150
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F. 82

M. 86
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Weight (kg) | 40 | 42 45 |48

Number of 6 8 4 2
students

°h. 32.4
Q. 42.6
1. 424
. 32.6

feu U ST ot ST T UTH |

Age 10 |11 |12 13 |14 | 15 16 | 17
(years)

Number of | 2 10 (18 |20 |10 |7 6 3
Students

. 12
9. 13
T. 14
.15

10 Radhainvested anamountof Rs 50,000 to start

11

12

13

14

a software business. After six months Nikhil
joined her with anamount of Rs 80,000.At The
end of 3 Years they earned a profit of Rs 24500.
Whatis Radha's Sharein the Profit?

a. Rs14,000

b. Rs9,423

c. Rs10,250

d. NoneoftheAbove

One fourth of one third of two fifth of a
number is 15. What will be 40% of that
number?

a. 110

b. 320

c. 250

d. 180

Find the range of marks of MBA students in a
class givenas 28, 60, 10, 96, 35, 40, 25, 85, &9.
a. 82

b. 86
c. 87
d. 89

The weight of 20 students are given below:
Weight (kg) | 40 |42 45 |48

Number of 6 8 4 2
students

Find the mean weight.
a. 324

b. 42.6
c. 424
d. 32.6

Find the median of the given data.

Age 10 |11 |12 13 |14 | 15 16 | 17
(years)

Number of | 2 10 (18 |20 |10 |7 6 3

Students

12
13
14
15

o 0o T o
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SECTION - B

Which among the following is not opened for
private sector participation?

a. Powersector

b. Telecommunication sector

c. Education Sector

d. Railways

The first five year plan was given in which
year?

a. 1952

b. 1950
c. 1951
d. 1953

Who plans to launch a fully electric bus
'Versa'inIndia by 2017

Tata Motors

Volvo

Ashok Leyland

Toyota

o 0 T o

Which company owns the cult brand- Maggi?
a. Cadbury

b. Dabur

c. Nestle

d. Britannia

Regarding the International Monetary Fund,
which one of the following statements is
correct?

a. ltcangrantloanstoanycountry

b. It can grant loans to only developed
countries

c. ltgrantsloanstoonly membercountries
d. Itcangrantsloans tothe central bank of a
country

Who is the Managing Director of the
Mahindraand Mahindra Group?

a. Anand Mahindra

b. BikiOberoi

c. Gurbaksh Chahal

d. RohinDasGupta
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Which one of the following has been awarded
withthe 2015 'European Car of the Year'?

a. Mercedes

b. BMW

c. FordMondeo

d. Volkswagen Passat

What does the letter 'S' denotes in the term
IFSC?

a. Subscriber

b. State

c. System

d. Source

Currently who is the Director of Reliance
Industries?

a. Mukesh Ambani

b. Anil Ambani

c. NitaAmbani

d. AllThree

Who is currently the brand ambassador of
Wafers “Lays”?

a. RanbeerKapoor

b. Shahid Kapoor

c. RanbeerSingh

d. SharukhKhan

Who is / are currently the brand ambassador
of “Make My Trip” online Travel site?

a. RanbeerSingh

b. AliaBhatt

c. a.&b.both

d. Noneoftheabove

How many rupees Vijay Malya has to pay to
banks as directed by ED?

a. Above 300 Crore Rupees

b. Above 600 Crore Rupees

c. Above 900 Crore Rupees

d. Datanotadequate
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T Suvarna Raju took charge as 17th Chairman
of which Public Enterprisein India?

a. BharatSanchar Nigam Ltd.

b. Steel Authority of India Ltd.

c. Hindustan Aeronautics Ltd.

d. DatanotAdequate

Which bank signs MoU with new
development bank of BRICS?

a. ICICI

b. HDFC

c. YES

d. AXIS

Food portal “Just Eat India” was acquired by
which Company leaderin food online portal?
a. FoodPanda

b. Dominos

c. KFC

d. Subway
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36 If an employee does something wrong, then

the company the employee.

<h. Outsources
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7. Layoff

¥. Retrenches
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SECTION - C

Common forms of business writing include:
a. Memos

b. Emails

c. Reports

d. Allof Above

Which quality among the following can be
avoided during business writing?

a. Useofjargons

b. Idioms

c. Conciseness

d. Anearfortone

The heading of a resume includes which of
the following?

a. Educational Qualification

b. Professional Experience

c. Name of Reference

d. Nameandaddress

SWOQT isanacronym for.

a. Strength, weakness, opportunity, threat
b. Social, World, organisation, technology
c. Special, World, orbit, technology

d. Social, world, order, theory

The employees who work for a company are
onits

a. Payroll

b. Workcharge

c. Musterroll

d. Register

If an employee does something wrong, then
the company the employee.
a. Outsources

b. Fires
c. Layoff
d

. Retrenches
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To reach the Olympic spotlight, a gymnast
starts training between the ages of 2 and 5,
although they may not compete for several
more years.

. They might not compete

9. They could not compete
7. She may notcompete
¥. Itdoesnotcompete

Every trader reads Economic Times daily to
make their decisions.
. There

d. Her
. Its
¥. NoError

Whoever objects to me going to the opera
should clarify her position.
. Whomever objects to my

9. Whomeverobjectstome
. Whoeverobjectsto my
¥. Noerror

The workers were hell bent getting their
right dues.
h. on

. at
1. for
. upon

Nina was happy about herresults,
that she gave everyone in the class a lunch
treats.

. Such

9. Somany
. So
¥. Somuch

The various norms for banks' transactions are
down by the RBI.
<h. led

d. lay
1. laid
¥. lead
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To reach the Olympic spotlight, a gymnast
starts training between the ages of 2 and 5,
although they may not compete for several
more years.

a. Theymight not compete

b. Theycould notcompete

c. Shemaynotcompete

d. Itdoesnotcompete

Every trader reads Economic Times daily to
make their decisions.

a. There
b. Her

c. lts

d. NoError

Whoever objects to me going to the opera
should clarify her position.

a. Whomeverobjectstomy

b. Whomever objectstome

c. Whoever objectsto my
d

. Noerror

The workers were hell bent getting their
right dues.

a. on

b. at

c. for

d. upon

Nina was happy about her results,

that she gave everyone in the class a lunch
treats.

a. Such

b. Somany
c. So

d. Somuch

The various norms for banks' transactions are

down by the RBI.
a. led
b. lay
c. laid
d. lead
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The following two words have similar
meaning. Out of the given option select the
third word with similar meaning:

Manage, supervise,

44

45

<h. Serve
9. Neglect
7. Direct
. Follow

Choose an antonym for the keywords given
below: (Q448&45)

Philanthropy
<h. Charity

9. Endowment
. Donation

¥. Parsimony

Dogma
<. Doctrine

9. Creed
7. Opinion
. Ambiguity

1.

43 The following two words have similar

meaning. Out of the given option select the
third word with similar meaning:

Manage, supervise,

a. Serve
b. Neglect
c. Direct
d. Follow

Choose an antonym for the keywords given
below: (Q448&45)

44 Philanthropy

a. Charity

b. Endowment
c. Donation
d

. Parsimony
45 Dogma
a. Doctrine
b. Creed
c. Opinion
d. Ambiguity
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SECTION - D

What does NEFT standsfor __?

a. National Electronic Funds Transfer system
b. Negotiated Efficient Fund Transfer system
c. National Efficient Fund Transfer solution
d. Non Effective Fund Transfer system

‘Alphabet' is the name of new holding
company created by which major giant
company?

a. Google

b. Microsoft
c. DELL

d. Facebook

The retail chain Falabella belongs to which of
the following country?

a. Greece

b. Finland
c. Chile

d. Germany

Which country had issued currency notes
with Ganeshastatue printed oniit?

a. Malaysia
b. Indonesia
c. Srilanka
d. Nepal

“Making India beautiful” is the tagline of
which retail chain?

a. BigBazaar

b. Pantaloons

c. Reliance

d. Parimal

Patanjali brand of FMCG products and Divya
brand of ayurvedic medicines are associated
with which of the following person?

a. BabaRamdev

SriSriRavi Shankar

MurariBapu

b.
C.
d. Osho



52

53

54

55

56

57

TR Ree o (SWEes) w1 qeed

freAfafad § 9 SH 91 <9 9 <9 1 98T T8
g?

ERE LI

. Uifh&™

T SR

o, HIHER

IR § ol It hiFel Hel ... T U E ?
. ISl

. qigH e

7. foRR

. IRES

g ° urepfae T w1 G99l 99l 3Rk

= o A oiF g o1t el A 634 T fhed
TEHR 2015 H Terare™ fhen o9 & foaw w69y
STl SheATohTY SRl JLEhT ST ?

. BIiel goars

@, fagd frm

T ARG B

o, STRIEAT Arered

* TITET ST TRl AT © Sil T 379 Tl
Fd e fora e e ?

. A TSl

Q. @i fgaesmg

T, HETeH e

5. faferam IR

13.

52.

53

54

55

56

57

The headquarters of Reserve Bank of India
(RBI) is located at __?

a. NewDelhi

b. Mumbai

c. Kolkata

d. Nasik

Which of the following is not a member of
SAARC?

a. Nepal

b. Pakistan

c. Bangladesh

d. Myanmar

The largest coal reserves in India are found

Orissa

West Bengal
Bihar
Jharkhand

o 0 T w

The largest producer of Natural Gas in the
worldis ................ ?

a. Kuwait

b. SaudiArabia

c. UALE.

d. Noneoftheabove

Which of the following child artist as won the
award for Best Child Artist for Malayalam
movie Ben at the 63rd National film awards
20157

a. HarshaaliMalhotra

b. Siddharth Nigam

¢. GauravMenon

d. AradhanaSrivastava

Who said "God helps those who help
themselves"?

a. AlgernonSidney

b. SwamiVivekananda

c. Mahatma Gandhi

d. William Shakespeare
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